



12/05/2024 07:00 AM | Install Day 1 12/06/2024 08:00 AM | Install Day 2 12/07/2024 09:00 AM | Strike PO: Shipping Address: Beverly Hills Hotel 9641 Sunset Blvd. Beverly Hills, CA 90210 **Cora and Company**

Invoice Date:

Due Date: Upon Receipt

Salesperson: Milana Ayvazova

Description		Qtty	Price		Total
ADDITION					
	Barstools - Buenos Aires - Chrome black cushions 21"W x 17"L x 4'H - Seat Height 30"	6	\$0.00	Т	\$0.00
	Black Dupioni Valance for Foyer	1	\$0.00	Т	\$0.00
	Black Tassels	16	\$0.00	Т	\$0.00
			Total ADDITION		\$0.00
Cocktail Hour					
	Perimeter Draping in Foyer silver stretch velvet	1	\$7,000.00	T	\$7,000.00
	Valance In Stock - Silver Dupioni	1	\$0.00	Т	\$0.00
	Grey Two-tone Sheer Chiffon Fabric Around Chandeliers pullbacks	1	\$900.00	Т	\$900.00
	4'W x 12'H Custom Photo Walls wood wrapped with silver dupioni fabric	6	\$900.00	Т	\$5,400.00
	4'W x 12'H Custom Freestanding Double SIded Photo Walls wood wrapped with silver dupioni fabric, frames on one side, other side finished with silver wrapped fabric, free standing	8	\$1,200.00	Т	\$9,600.00
	8' x 7'6" Custom Photo Wall For Niche wood panels wrapped with silver stretch velvet	1	\$950.00	Т	\$950.00
	300 Acrylic Frames + Framing & Attaching to Panels client to print photos, revelry will frame & hang, several sizes,	1	\$5,800.00	Т	\$5,800.00
	Bar Cover - Beverly Hills Hotel Existing Bar Custom Covers Bar Cover - Beverly Hills Hotel Bar Custom Cover - Plexi Mirror 9'7"L x 43"W - Custom @ Bh Hotel	1	\$800.00	Т	\$800.00
	Stand Up Tables - Berlin - Chrome 37" Diam x 40"H	6	\$200.00	Т	\$1,200.00

Description		Qtty	Price		Total
	Bars - Buenos Aires - Metal Frame 6' painted silver with mirror front 6'W x 32"L x 43"H - Frame: Color Upon Request. Inserts Available	4	\$900.00	Т	\$3,600.00
	Bars - New York - Folding 6' painted high gloss silver 6'W x 31"L x 42"H - Color Change Upon Request	3	\$950.00	Т	\$2,850.00
	Barback - Munich - Chrome W/ Glass Shelves & Base base painted silver high gloss 47" x 14" x 90" - Base Color Upon Request	1	\$200.00	Т	\$200.00
	Pedestals - Arched Lucite Frame 15.75" x 42"H	1	\$200.00	T	\$200.00
	Arches - Metal Large - 10'W x 12'H raised 2'H with bases and sand bags Color Change Upon Request	1	\$450.00	Т	\$450.00
	Draping For Photo backdrop - 10'W x 12'H 30' x 14'H pleated drape, 5 layers of valance, 1- 10'W x 2'H, 1- 10'W x 3'H, 1- 10'H x 4'W, 1-10'H x 5'W, 1- 10'W x 6'H	1	\$3,200.00	T	\$3,200.00
	Chandeliers - Avignon - Crystals - Large 18"Diam x 34"H - 18lb	3	\$250.00	T	\$750.00
	Chandeliers - Avignon - Crystals - Medium 16"Diam x 32"H - 15lb	4	\$220.00	T	\$880.00
	Chandeliers - Avignon - Crystals - Small 10"Diam x 17"H - 8lb	2	\$180.00	T	\$360.00
*			Total Cocktail Hour		\$44,140.00
Reception					
	Full Room Perimeter Draping in Silver Stretch Velvet - To The Ceiling full draping except on balconies, tbd pullbacks on doors & mirrors or cut out with wood frames on site,	1	\$12,000.00	T	\$12,000.00
	Valance In Stock - Silver Dupioni	1	\$0.00	Т	\$0.00
	Chandeliers - Budapest - Crystal 40" rouching tbd 40"W X 45"H - 48lb - 450 Watts	11	\$750.00	T	\$8,250.00
	Chandeliers - Rome - Large rouching tbd 27"W X 35"H - 28lb - 250 Watts	19	\$350.00	T	\$6,650.00
-	Custom Truss Covers - Liquid Lame (With velcro) 260' x 20.5" x 20.5"	1	\$7,100.00	T	\$7,100.00

Description		Qtty	Price		Total
	Custom Balcony Railing Covers In Plexi MIrror	1	\$7,900.00	Т	\$7,900.00
	Oversize Props - Buenos Aires - Handrail 6' painted silver high gloss, printed fabric for backing, on 1'H riser 72"W x 36"H	10	\$400.00	T	\$4,000.00
	Custom Decal Inserts for Buenos Aires Panels - 30'W x 6'H	1	\$3,200.00	Т	\$3,200.00
	30'W x 1'H Wood Riser In Silver used as a base to raise the Buenos Aires Panels 5-6'W x 1'H sections, painted in high gloss silver	1	\$0.00	Т	\$0.00
	Custom Made Mirror Plexi Top For Panels 3'H x 30'W 5- 3'H x 6'W sections,	1	\$2,500.00	Т	\$2,500.00
	Custom Light Box Logo Letter 4'H, color in warm white dimmable, frame painted in silver, attached in the back to create 1 piece, *leave for client after the event*	1	\$5,700.00	T	\$5,700.00
	Custom Stage Front: Mirror Plexi 5- 6'W x 36"H, 2- 3'W x 36"H, 2-4"W X 36"H,	1	\$4,000.00	Т	\$4,000.00
	Banquettes - Monaco - Straight Black Channeled W/ Skirt 6'	8	\$350.00	Т	\$2,800.00
	6'W x 39"L x 30"H				
processor of the same of the s	Dining Table - Los Angeles - Chandelier 8' black velvet flat base, silver frame, table height at 32.6" - 33"H 96"W x 48"L x 31"H	16	\$600.00	Т	\$9,600.00
	Dining Table - Los Angeles - Chandelier Square 66" black velvet flat base, silver frame, table height at 32.6" - 33"H 66"W x 66"L x 30"h	12	\$550.00	Т	\$6,600.00
	Barback - Munich - Chrome W/ Glass Shelves & Base base painted silver high gloss 47" x 14" x 90" - Base Color Upon Request	2	\$200.00	Т	\$400.00
	Roll of Silver Stretch Velvet Fabric	1	\$0.00	Т	\$0.00
	Roll of Liquid Lame	1	\$0.00	Т	\$0.00
			Total Reception		\$80,700.00
Services					
	Thursday - Install Day 1	18	\$650.00		\$11,700.00
	Friday - Install Day 2	10	\$400.00		\$4,000.00
	Sunday Strike	12	\$550.00		\$6,600.00
	Truck & Gas Surcharge	9	\$480.00		\$4,320.00
	Flameproof Certification	1	\$600.00		\$600.00
	Manager Fees: Revisions, productions, on site management, etc.	1	\$900.00		\$900.00
	Presentation Fee	1	\$800.00		\$800.00

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full

Please ready the contract and sign it

Notes

Total Products: \$124,840.00

Total Labor/Services/Misc: \$28,920.00

Wear & Tear (4.00%): \$4,993.60

Packing (2.00%): \$2,496.80

Taxes: \$11,859.80

Discounts: (\$0.00) Total: \$173,110.20

Total: \$173,110.20 Payments: (\$173,110.20)

Balance: \$0.00